g 8 A A

RN EpEE
M AERAHEY sape
el ME JNMEH =D (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sl EFHEH2 31,416,439 30,449,559 966,880
= 1,074,285
[ 3,723,719
= 1,738,603
Ea 24,879,832
AEHIMIH S 371,540 1,811,200 1,439,660
slgel N =X 13,600 0 13,600
IHE = ZMEH 2 13,600 0 13,600
201 2egh=3| 5,600 0 5,600
01 At2t2ltl 5,600 0 5,600
O ZHEH 2= & S 4,000
O R =7 =2 ohAlb|
8,000 x5 40! 1,600
202 04| 8,000 8,000
01 2K 8,000 8,000
O ZHEH =& 044l
20,0002 x5 +80! 8,000
DEAE JIRM 22 367,940 266,600 91,340
DSAEDIR M Al 367,940 266,600 91,340
201 er23| 245,240 258,250 A13,010
01 At2teltl 245,240 258,250 213,010
O DEAEIIRH 22| 60,000
O USMEIIRH ARES 718 S 2,000
O LA Vs € a3 822
S 30,0002 18 *62] 3,240
O =dE M& £ syl 180,000
308 AHXIEMSOIH 112,700 112,700
18 SIS0t oA AS A 112,700 112,700
O HEiidE=es
7,000,000 <200 2 %23 *30H 2 84,000
O DeAEed AAE SXESH 2E3 28,700
Jelwdg 2,780,201 2,068, 161 712,040
= 1,000,000
[Ea 1,780,201
Koot HAIEH A 2,780,201 2,068, 161 712,040
[ 1,000,000
o 1,780,201
HIAX A F A DE2IE MEfSar2r2 Xl gAY 2,780,201 2,068, 161 712,040
[ 1,000,000
o 1,780,201
401 AIEHIZ SR HYI 2,780,201 1,564,000 1,216,201
= 1,000,000
T 1,780,201
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SA MEEIE B2
Hu: Jelnd
CHl: ASHOH Q1B AN (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,773,001 1,560,403 1,212,598
LS, YHHEEHE ZYAME =N 1,992,800
= 996,400
o 996,400
O 8, dEMEZHI ZEAY F=2(2023
4 ZHIRE3) 780,201
03 Al 20HHI 7,200 3,597 3,603
O AIZ20HI 7,200
= 3,600
= 3,600
NESH G oHE 3,724,127 3,055,488 668,639
= 14,000
= 638,750
< 514,245
= 2,557,132
axte| HE 3,724,127 3,065,488 668,639
= 14,000
[ 638,750
= 514,245
[Ea 2,557,132
S3STEAY 1,339,342 1,306,771 32,571
101 @12A4H| 1,338,142 1,305,571 32,571
04 JIZtN22 XS 2+ 1,338,142 1,305,571 32,571
O S3ZZAME 1,338,142
—el2H| 2,060, 7402 x65H 32| «3H 1,205,533
-282 1,205,532,900& *11% 132,609
201 er23 | 1,200 1,200
01 At2teltl 1,200 1,200
O SSIZAY HUESE Y S 1,200
2xtel #3E 578,311 673,933 NG5,622
101 212A4H| 570,931 664,353 NG3,422
04 JIZtN2Z2 XS+ 570,931 664,353 NG3,422
gas Wetde el A 109,446
— el 78,8803 x25H x25 2 +23] 98,600
-58= 98,600,000 *11% 10,846
O dyIE eXelAre 461,485
— el 2,060,7402 x10& 208 412,148
—g& S0l 200,000 *12/+x20H 4,000
-282 412,148,000 *11% 45,337
201 er23 | 3,080 3,080
01 At2teltl 3,080 3,080
O NG LAl E2= S HMH 1,000
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SM: NBAHEH
M DREF U ok
Chelr gxtel ¥E EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
O €XielAtg RS ?et ARES 7
ol 880
O €iiclEE R S20AH|
8,000 38 *503] 1,200
202 04| 4,300 6,500 A2,200
01 =LHOLI 4,300 6,500 22,200
O eXtelArd =& 04| 4,300
2xtel X2HE 23 5,760 5,760
201 er23 | 3,600 3,600
01 At2teltl 3,600 3,600
O dielXN2dH 28 & 82= NM&H S
10,0002 *360H 3,600
202 04| 2,160 2,160
01 2L A 2,160 2,160
O AN NE FHESEA SEHI
180,000& 12~ 1H 2,160
NS AelEE N2 ALY 638,730 33,620 605,110
s 500,000
s 71,000
s 67,730
307 @I2t01 & 638,730 33,620 605,110
[ 500,000
= 71,000
o 67,730
02 QA AAEE X 638,730 33,620 605,110
O ZZJBMIE! =AY 638,730,000 638,730
[ 500,000
= 71,000
o 67,730
NS SH LRtel AL (HEALY) 411,540 244,400 167,140
s 267,501
s 144,039
101 ©1AH| 401,040 238,900 162,140
& 260,676
Ea 140,364
M ORINZZ2NSE S 401,040 238,900 162,140
O NSSSHLACIAIY el2it] 401,040
S 260,676
= 140,364
202 04t 3,500 2,000 1,500
S 2,275
o 1,225
01 2L A 3,500 2,000 1,500
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SM: NBAHEH
M DREF U ok
el 2l &= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XNSESSH LAl MY SE8d S 3,500
= 2,275
= 1,225
206 MH=H| 7,000 3,500 3,500
=S 4,550
s 2,450
01 M=8l 7,000 3,500 3,500
O NESSHLReIAMY =8 He7Y 7,000
< 4,550
[Ea 2,450
0E018 |4 30,000 80,000 250,000
= 15,000
< 4,500
[Ea 10,500
307 212+01& 30,000 80,000 /50,000
= 15,000
=S 4,500
s 10,500
02 QB HANSEER 30,000 80,000 /50,000
O o=J1g |54 30,000
[ 15,000
= 4,500
Ea 10,500
OIS I8 0 E3tA 50,000 50,000 0
< 15,000
[Ea 35,000
307 212+01& 50,000 50,000 0
& 15,000
= 35,000
02 2IZHB A E £ 50,000 50,000 0
O D1 C3HANE 50,000
= 15,000
o 35,000
AR HEAG (ARIEDS) 165,000 126,000 39,000
[ 123,750
= 12,375
o 28,875
307 el2tol & 165,000 126,000 39,000
= 123,750
S 12,375
= 28,875
02 2IZHBHAIHE £ 165,000 126,000 39,000
O (oIENARIEDIY LRSS AE 165,000
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2,031,460
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A67,000
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MEE
Ofl &k2h

105,000

105,000
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3,048,400
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3,000
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105,000
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SM: NERAHEY
HE: ZA)| 2SN
el SR A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,100 2,100
01 2LHoIH 2,100 2,100
O ssHA 243t & dFI|gH 282
= 2,100
S4J1Y 2ZHEA 78,300 123,300 245,000
=S 23,500
s 54,800
402 2I2FX=201H 78,300 123,300 /45,000
< 23,500
[Ea 54,800
02 QI TH2AILEE(OIHTHE) 78,300 123,300 /45,000
O SaJ1Y SFNEAS 78,300
== 23,500
= 54,800
eI eletZAIAY AF XA 21,000 15,000 6,000
403 MR HHMSAHE01H 21,000 0 21,000
02 SISOt =2 A P E A I 21,000 0 21,000
O 201y JelgZ AL 2= X AS(
SHl AEXIE) 30,000, 000& *70% 21,000
KA a #E XA 20,000 0 20,000
308 AHXIHMSO0IA 20,000 20,000
13 SI12S0He 4 A AS A 20,000 20,000
O XIATHAH HE XS (EH HEXIH)
40,000, 000& %50% 20,000
SSHA gdal XA 180,000 170,000 10,000
= 72,000
Ea 108,000
301 EtE2 NS 180,000 170,000 10,000
=S 72,000
s 108,000
14 0Bt 2as 180,000 170,000 10,000
O s3HA 243t XEAE 180,000
< 72,000
[Ea 108,000
OIMSHESMNA(NLENFEEERS) 4,500,000 2,500,000 2,000,000
= 2,000,000
== 250,000
[Ea 2,250,000
402 212 X201 & 4,500,000 2,500,000 2,000,000
= 2,000,000
=S 250,000
s 2,250,000
02 RIENEASEZ(0IETHR) 4,500,000 2,500,000 2,000,000
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SM: NERAHEY
HE: ZA)| 2SN
el SR A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NEENEAEEXS('24) 2,500,000
= 2,000,000
= 250,000
2 250,000
O NYENSTLEZ('21) (2162 & 20 2
291) 2,000,000
1Y ESG S AE A=A 20,000 0 20,000
308 AXIHSOIA 20,000 0 20,000
183 S| 2SI ZB&HAEAIE 20,000 0 20,000
O ESG QAN w= Z23 2 &8 X
o 20,000
SAIIY 22X JI=sAH LI KZ A 36,460 0 36,460
< 10,940
s 25,520
307 lztol & 36,460 0 36,460
= 10,940
= 25,520
02 2B YA E X 36,460 0 36,460
O 401 227X JIsAE et NJAY 36,460
= 10,940
Ea 25,520
HSE 44 ANESH M AG(ZH AFYXH) 80,000 0 80,000
403 AXIEHHSAH=201H 80,000 0 80,000
02 S 2SOt et = & 2 E AL H] 80,000 0 80,000
O M58 dd ANESE MAHA MH(E
Bl ZEXA) 80,000
SSH 243 180,600 9,570 171,030
SSH AL 180,600 9,570 171,030
Ol=3SH 3 180,600 9,570 171,030
201 fet=3| 600 2,400 21,800
02 s3=gHl 600 600 0
O Oi=ssHM 33 |X&cl S
50,000& * 122 600
401 Al HIZL 01| 180,000 0 180,000
01 Al&H| 180,000 0 180,000
O li=ssMaa A2t =4
180,000,000 14 180,000
NSEZH |4 7,845,783 10,821,669 N2,975,886
= 7,140
= 329,343
o 7,509,300
A ahotaedst 7,845,783 10,821,669 A2,975,886
= 7,140
= 329,343
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e EDUEEIE
XNHBH |54
KIS A2 A 5] (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 7,509,300
HEAE & aotatel 604,363 715,39% 111,033
201 fet=23y| 95,163 159,846 N\64,683
01 AtR2tc|HI 17,846 117,846 100,000
O AMZQ SHYUDREXE S8 S20A
uf 1,500
O 243802 & JSAY R ARES
¢ 2,000
O HSAIE o84 & DHHEAE HIE S
- 5,000
O dSAZE DHHJAE F)| Xz
450,000 *20H 2= 900
O MSAE 222(Ft=7U) & A&
10,0002 *400&*23] 8,000
O oicld dSAE =F7MH HREE
4,2002 %106 446
02 S3=gHl 77,317 42,000 35,317
O HSAIE AEEHl SXIHI(EHA) 30,000
O dEANE 332362) 35,000
O g8 g dSAY 29 ~=
2,000,000 *43] 8,000
O SFHLHAE RXES 4,317
202 04| 4,200 2,000 2,200
01 =LHOHI 4,200 2,000 2,200
O 248004 & dSATEds gHY
2 =X 20,0002 %324 %702 4,200
306 £= 500,000 500,000
01 9= 500,000 500,000
O 24380 S=E2S Ed= 500,000
401 AlEHIZ 201 5,000 51,550 A\46,550
01 A28l 5,000 51,550 A\46,550
O HSAE HIINE S AEEH 5,000
FANHELEI 20 30,500 34,632 N4 132
< 9,180
[Ea 21,350
307 212+01& 30,500 34,632 VAV K7
& 9,150
= 21,350
02 2IZHB A E & 30,500 34,632 N4 132
O MSAE HUFH2I =201 29
15,250,000 x2H 30,500
= 9,180
Ea 21,350
HdSAME FMSH A 3,600 4,000 A400
== 1,523
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SM: NEAHE
33 NGEHM =4
el XNGatardst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,077
301 EtE NS 3,600 4,000 2400
=S 1,523
s 2,077
14 0Bt 2as 3,600 4,000 A400
O dSAME SHSH K& 3,600
< 1,523
Ea 2,077
DAY d3H 28 5,168,800 7,811,656 N2,642,856
201 er23| 1,062,000 879,856 182,144
01 At2teltl 1,057,000 874,856 182,144
O DAY 4353 NH
130&+2,000,000& 260,000
O &3 & GRS A S204|
8,000 x3& 50! 1,200
O DAY 43 SFMH
1202 *40,000& 4,800
O NEAE o435 &l & &8 =2 S
50,000,000,000& 1% 500,000
O 24t & e 432 234
46,000,000,000& %0. 6% 276,000
O LEME 45D EE S 5,000
O NEANE oZd 2= 2 LRH-|
5,000,000& 22 10,000
02 S3=gHl 5,000 5,000 0
O NENY oJ5H 82= €5 S 5,000
202 04| 1,800 1,800
01 =LHOLI 1,800 1,800
O NN oE5d 28 L g2 =AU S 1,800
301 EtE NS 4,105,000 6,930,000 A2,825,000
14 JIEt2d=3 4,105,000 6,930,000 A\2,825,000
O NEAEZH gololl 24
41,050, 000,000& *10% 4,105,000
NS aEd LS AE 1,595,000 1,580,000 15,000
=S 220,000
s 1,375,000
301 LEtE NS 1,595,000 1,580,000 15,000
== 220,000
[Ea 1,375,000
14 JIEt2 = 1,595,000 1,580,000 15,000
O DEAY &3 2l Bl 24H(10%)
15,950,000,000& *10% 1,595,000
= 220,000
= 1,375,000
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SM: NEAHE
33 NGEHM =4
el XNGatardst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,998
s 11,662
301 EtE NS 23,800 0 23,800
= 7,140
== 4,998
[Ea 11,662
14 JIEt2d = 23,800 0 23,800
O Febtags adst N 23,800
= 7,140
=S 4,998
s 11,662
0 AEHFH oPHHI0I 2 30,000 30,000 0
201 =3 30,000 30,000
03 A= &I 30,000 30,000
O 0F A3 H o0l 29 30,000
4 QSN & AL 1,476,684 1,414,285 62,399
= 10,000
= 84,969
& 250,564
Ea 1,122,151
gy =8 1,476,684 1,414,285 62,399
= 10,000
[ 84,969
= 259,564
o 1,122,151
ds FENSIE NFAS 227,223 216,000 11,223
= 100,800
o 126,423
301 LEetE2 N = 227,223 216,000 11,223
s 100,800
s 126,423
14 0Bt 2as 227,223 216,000 11,223
O ®= HUTAFE N2 AL
300,000 x56E 12042 201,600
< 100,800
s 100,800
O &2 HEAXAZER MY ('BE 24| 2
g§3) 25,623
HEFHSI XA 66,444 84,000 A17,556
== 16,800
o 49,644
307 212+01& 66,444 84,000 17,556
< 16,800
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SA A2
B HA AR U AzrAs)
el 3EEE =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 49,644
02 QA AAEE X 66,444 84,000 A17,556
O FEFHLXEMS 42,000
s 16,800
s 25,200
O FAFgX2A (288 ZHl RFE3) 24,444
4060 AlSE FHAXIHAIS 90,792 100,800 10,008
= 26,880
o 63,912
307 elzto| & 90,792 100,800 10,008
= 26,880
o 63,912
02 QA HAIEE X 90,792 100,800 10,008
O 4060 &lEE FHEXZ AL 67,200
== 26,880
o 40,320
O 4060 &l1SE FGARAIG('234 ZH 2
2) 23,592
FESHLF OIEIE S X2 A 60,000 49,000 11,000
308 AXIHSO0IA 60,000 49,000 11,000
18 SIS0t HAS A 60,000 49,000 11,000
O ALt OHI SN2 AL (SHIHE X
&) 15,000,000 4 60,000
NEE F4E el NEAME 128,159 272,821 A144,662
= 63,632
= 11,106
o 53,421
301 EtE2 NS 57,500 0 57,500
[ 28,750
= 5,750
o 23,000
4Bt 2 a3 57,500 0 57,500
O DS @ dXel XFAZ(BER olal
EIE) 57,500
[ 28,750
= 5,750
= 23,000
307 gl2to| & 70,659 272,821 N202,162
[ 34,882
= 5,3%
= 30,421
02 2B YAIHE X 70,659 272,821 A202,162
O D Y 2xel XA (I24H]) 45,159
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SERNE R E-EE
B HA AR U AzrAs)
ol FEEE =4 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 288
= 670
02 QIZHAAAIEER 2,221 195,984 193,763
O MIIEHGH HASEADIF XA o124](
XSEEHAH) 1,917
= 1,263
= 197
= 457
O MIEHGH HASEAMDIF XIAIY wSHI(
XS AE) 304
& 91
o 213
A LIcH0IS LAtel NJA 4,785 20,880 A16,095
308 AXISHMSO0IN 4,785 20,880 A16,095
13 SI|2ASUICHEH B A X L EFAMH] 4,785 20,880 A16,095
O &Y LieHole LRl AFZ(=Z2=H] 2EX
) 4,785
A LI2H0IS SHA LXtel N3 4,794 6,960 A2,166
308 AXISHMSOIN 4,794 6,960 A2,166
13 BI 2 SUICHEHE A XL EALH] 4,794 6,960 A2,166
O &4 Lol SA Xl Ar(2&HI
NEXIH) 4,79
HUEZEAN StAl SEXSAY 20,000 58,000 A38,000
= 10,000
& 3,000
= 7,000
301 LPENZ 20,000 58,000 A38,000
= 10,000
& 3,000
= 7,000
01 AISIBE XS (2 RETE) 20,000 58,000 A38,000
O HUASN stAl SEXIEAAY 20,000
= 10,000
= 3,000
= 7,000
HUEES WIIX K2 110,000 0 110,000
307 212+01 A 110,000 110,000
02 QIZtBAAIE E R 110,000 110,000
O #E=Y WX XNF(ER
15,000,000 «5H 75,000
O #E=Y WIIXl XA (2EX
50,000,000 * 123 *70% 35,000
HEAMHAHHEA FX 53,000 53,000
201 L2 AH| 53,000 53,000 0
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